PARTS FOR :
AIR PALM RANDOM ORBITAL SANDER NON-
VACUUM @150mm

mobpELs: GSA04

ISSUENO : 1
ISSUE DATE : 18/10/2016

ITEM PART NO DESCRIPTION ITEM PART NO  DESCRIPTION
1 GSA06.01 HOUSING 22 GSA06.22 CYLINDER
2  GSA06.02 JACKET 23 GSA06.23 O-RING
3 GSA06.03 TRIGGER 24 GSA06.24 STRAIGHT PIN
4  GSA06.04 STRAIGHT PIN 25 GSA06.25 ROTOR
5 GSA06.05 SNAPRING 26 GSA06.26 BLADE
6 GSA06.06 O-RING 27 GSA06.27 BACK CYLINDER HEAD
7 GSA06.07 PIN 28 B/6000ZZ BEARING 6000ZZ
8 GSA06.08 O-RING 29 GSA06.29 SNAPRING
9 GSA06.09 VALVE KNOB 30 GSA06.30 E STOPPER
10 GSA06.10 SWITCH VALVE RING 31 B/6001ZZ BEARING 60012Z
11 GSA06.11 SWITCH VALVE 32 GSA06.32 SEALING RING
12 GSA06.12 SPRING 33 GSA06.33 V GASKET
13 GSA06.13 EJECTOR BUSHING 34 GSA06.34 CRETAINING RING
14 GSA06.14 AIR INLET CONNECTOR 35 GSA06.35 BALANCING SHAFT
15 GSA06.15 DRIVE SHAFT 36 GSA06.36 LOCATING SLEEVE
16 GSA06.16 WOODRUFF KEY 37 GSA06.37 MUFFLE CONNECTOR
17 GSA06.17 LOCK NUT 38 GSA06.38 LOCATING PIN
18 B/6001ZZ BEARING 6001ZZ 39 GSA06.39 VACUUM ADAPTER
19 GSA06.19 STRAIGHT PIN 40 GSA06.40 WRENCH
20 GSA06.20 FRONT CYLINDER HEAD 41 GSA06.41 DUST COLLECTING HOOD
21 GSA06.21 O-RING 42 GSA06.42 6" PAD

Sole UK Distributor, Sealey Group.

—
Kempson Way, Suffolk Business Park, ﬁ O 1 284 757500 g‘}\feb WWW'SealeyACO-Uk
S s, Sue . 01284 703534 5] sales@sealey.co.uk




